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#include <stdio.h>
void main(void)

{

int num(3];

charc="'a"; [&:7|:|/Z55i3%:?

num|[0] = 3; num[1] = 3; num[2] = 3; /

printf("&#E:%d . 7L X:%p¥n", num|[0]
printf("#{E:%d . 7L X:%p¥n", num[1],&num[1]);

printf("#E:%d . 7L X:%p¥n", num[2],&num[2]);

printf(" X F:%c . 7L X:%p¥n", c,&c);

,&num|0]);
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#include <stdio.h>
void main(void)

{ A - =
int *p = &x;

printf("#{E:%d . 7L X:%p¥n", x,p);
printf(" 7L X:%p¥n", &p);
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#include "stdio.h"
void swap(int* x, int* y)

{ int tmp = *x; x: 7L A (f: 0029FB38)
ey x: PRUR DR B :3)
*y = tmp;

o EUOFHEE |

void main(void)

{
inta=3,b=09;
printf("a=%d, b=%d¥n", a,b);
swap(&a, &b);

printf("a=%d, b=%d¥n", a,b);
}




é—Cs ﬁj\ﬁ\ﬁf:ffé:)?ﬁ‘o

—ONEBDEERMT HTOTTLED
=H8. swapBAEI DB IMER R D RAUATE
ESNTULV =,

ZTDTRLANRI ATV IMERIRT S
CET EZXRBLTNDDT,




EEXRXBI LT E6 RAVAELGR?
EMBESTHANIT. LZEWNTAHT,

#include "stdio.h"
void swap(int x, int y) {
int tmp =x;
X=Y;
y =tmp;
}
void main(void) {
int a=3,b=9;
printf("a=%d, b=%d¥n", a,b);
swap(a, b);
printf("a=%d, b=%d¥n", a,b);

}
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#include <stdio.h>

void swap(int* x, int* y) {
int tmp = *x;
X =y,
*y = tmp;

}

void sort3(int* nO, int* n1, int* n2) {

}

void show_3 nums(char *s, int nQ, int n1, int n2) {
printf("%s:{%d, %d, %d}¥n", s, n0, n1, n2);
}
void main(void) {
intn0=10,n1=5,n2=7,
show_3_nums("sortd]", n0, n1, n2);
sort3(&n0, &n1, &n2);
show_3 _nums("sort&", n0, n1, n2);
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void sort3(int* nO, int* n1, int* n2) {
if (*nl < *n0) { swap(nO, nl); }
if (*n2 < *nl){swap(n2, nl); }
if (*nl < *n0) { swap(nl, n0O); }

}
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#include <stdio.h>
#include <stdlib.h>
#include <time.h>
#include <string.h>

void get_now(int* year, int* month, int* day) {
time_t now = time(NULL);
struct tm tm_now = (*localtime(&now));

*year =tm_now.tm_year + 1900;
*month = tm_now.tm_mon + 1;
*day = tm_now.tm_mday;
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void show_date(char* s, int year, int month, int day)

{
printf("%s:%d & %d A %d B ¥n", s, year,month,day);

}

void set_date(int shift, int* year, int* month, int* day)

{

}
void main(void)
{

int year, month, day;

int shift = 31;

char s[128], szshift[16];

get_now(&year, &month, &day);

show_date("4 B", year, month, day);

set_date(shift, &year, &month, &day);

itoa(shift, szshift, 10); strcpy(s, szshift); strcat(s, "B &");

show_date(s, year, month, day);
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int is_Leap(int year)

{

if (year % 4 ==0) {
if (year % 100 == 0 && year % 400 !=0) {

return O;
}
return 1;
}
return O;
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int end_of dayOfMonth(int year, int month) {
switch (month) {
case 1: case 3: case 5: case 7:
case 8: case 10: case 12:
return 31;
case 4: case 6: case 9: case 11:
return 30;
case 2:
if (is_Leap(year) ==0) { return 29; }
else { return 28; }

}

return -1;
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// shift B D BFHZESMZHEH
void set_date(int shift, int* year, int* month, int* day) {
int end_day; // end_of dayOfMonth TiR I ED R+
*day += shift;  //shift B3 59"
while (1 ==1) {
end_day = end_of dayOfMonth(year, *month);
/] BIZEMATBER(1A63BLE)THITNIZIRITS
if (*day <= end_day) { break; }
/| FERGIEE . FRAET D
*day -= end_day; (*month)++;

}
J/EELAOTULESIZ, monthDEZF0~11I1ZT 5

(*month)--;
/| AR BRIGZEQRIAGE). SET S

*year += (*month / 12); *month %= 12; (*month)++;




